SETUP OF PREFAB BOOTH- PAGE |

3" x 48-3/4" Flat Steel

>Top Frame Rails- 2"x 2"x 132" Angle /Front Rail- 3/8" Hole
Rotate
Vertical Support-
3"x 83" Flat Bar
N
LN
\,\ \a;
NS
\\ \
A N
N % 2 7;7;\?;;;?;;@\
4 | s Predrilled Holes
|
FIG. |

I. Move Recovery System near final location. Leave access space on all sides.

2. Rotate each end of booth upwards. Align predrilled holes near bottom of each leg.
Lock ends in place with 3/8" x |" bolts, nuts, & lockwashers.

3. Install top frame rails with 3/8" bolts. Front rail has 3/8" hole in right end.

4. Check squareness of booth. If not square, loosen corner bolts and adjust.

5. Install ceiling brace with 3/8" bolts.

6. Attach vertical support with 3/8" bolts.



